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[image: image8.png]7 Max: My son has been adited by Peking Universiy.
‘Walts Congratulation! He i such s smat boy:

May
A Yes heis. B Youare right.
. Thank you very much. D. Dontmentioni.

. Student: Do you mind our performing rock' ' roll in the hlf?
Teacher:
A No. you'd betee not.
B.07 couse; s allowed here.
C.0h, 1t athe you didn' acully,
.1 prefer o fsin 0 rock" ol

9. Cllrk: Excuse me, thi s non-smoking place.

Customer:
A.Ob, L sory B How can you say tha?
. Thats il rght, . That's impossible.

10.Waiter: How would you ik your coffee?

Customer:
A e wel done B, Very nice,thanks.
. With sugar, plese, . Only one cup,

U1 Virglada: What sbout goin 10 do some shopping this aieroan?
Bony .
A, Go shead, please, B, Good ideat
€ Meton. D Help yourelf,

12.Carlos: Thank you very much, Miss James. That helped me ¢ ot

Miss James: Carls.
A Don'thank me B Don't mention i
.l e D. Umsorry

13.Susan: I'm worried. My son doesn't ket talk with e

Tracy: We were all lke that at his age.
A Take it easy. B, Change his mind,
C. Don't quarsel with b, D Dowtrefuse him.
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[image: image10.png]16 Jack Bilabong did ot um back because
A behadn't found the bull yet
B. e smelt & heavy smoke i the forest
C. e knew there was a bumt ma there
\ D hesaw something moving towards him
17, Why was the ride back 0 Borrogee teribie?
A Because Joe wasfred out.
B, Becose the rde started late at night
€, Beconsethey did't have enough coursge.
1D, Because hoth Cathy and her pony were exhaustod.
18 Cathy refised o talk @ reperters about the pony when she was in Borogee Hospital
b
A She it know swhat o sy
8. Jack aked her o 0 ak 0 thern
€. She was o0 weak 0 say anything
1D, Joe would wrte dbou it n is writng
19, What does the word Flame inth lst paragraph efer

Adsck. B The pony.
€ Jack's horse D Thefire

20, Which of the following i the best e of he story?
A Rescue ofJoe Brook. B Courage oflack Bllsbong
. Love of a Young Girl . Heroism of a Lovely Pony.

Passaze Two

“The faces of cldely, happilymaried people sometimes esembl cach other, Dr. Ak,
studied a uamber of couples who had been married for a least twenty-five years. Each couple
pravided. four photographs—one photo of cach pasner at the time of their marisge and
‘another photo of each partne twenty-fve or more years ater: Allbackground was cut o the
photos 1 remove any clues. The photos werethen displayed in groups: s andom grouping of
the persons at the time of the maniage and another rndom grouping of the sihe persons
‘whotock photographs fter Some testees were asked 1o pick out the pariners. They failed
totally with the fist group, Theic udgments were no bettr tan.hance, But withthe photos
faken twenty-five or mote years afte the mariage, the fesiees were quie successal in
deciding who'was msried 1o whom. They were parculaly successfl with the most
bappily-married couples.

Dx Adken believe there are severa reasons why couples grow ke, O reason has
something t0 do with Imitation. One person teads 0 copy or do the same us somcane clsc
without knowing it He says human begin o miate the expressions ofthe fuces of theirfoved

“t 15
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[image: image12.png]itk the checker, bagger, and manager ll come togethet and ofer the familsrcxplanation
3t wasa computer eror”

Tt of ourse. That computerized cashiee s really othing mare han an lecric cye.
“The eye reads the Universal Product Code—thatbar of black snd white lines in  comner of the
package—and then cheoks the code against  price list stored in memory. I the prie s i
- ight you'll b charged accuraely.
 Grocery stores update the prie lis cach day-—tha i, somebody st at & keyboard dnd
fypes i the price. I the prce they type in i toa bigh, there are only two explanations:
arelssness or dishoncsy. Butsomehow “s computer ror” i supposed 1o excuse everything.

One reason we e peoplehide i » computr isthe commmon misperception that huge,
modern computers are “electric brains” with *arifiial imeligence”. At some poin thers
might be 8 machine with ineligence, but none exiss oday. The smarist computer-on Earth
rght now s o more “intelligent” than your average pen. At this point n the development of
computers,the only thing any machine ca do s what  human has instructed it o do;
26, OF the three lcs the one about compuer s the worst because:the compuer- tclf

A says nonsense

B cheas customers

. cannot make the error

D does ook adit s exror

. According o the author, s computeried cashicr i ealy just

A& machine 0 count maney

B machine o roceive money

C.an instrument o prin codes

. an nstument o rad codes.

Grocery storsprice s ace updated by s

Axcomputer

B e keybourd

C.amemployee

D, an clectrc rain

“The last paragraph of the passoge implics that computers_____

A very clever

B never make misikes

. tave a go0d memery

. are contolled by man

). Which ofthe following describesthe main des o e passage?
A Computers are supidsnd inficit,
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[image: image14.png]D Their pecsonalserviees are suisactory:
How do the villge grocer’ assistants sl about iving cxraservice?
A They dont think it trouble.

B. They don't think t worthwhile.

. They don's consder it a good deal.
. They don't consider it s pleasant experience.

O special eatore ofthe villge shop s that

A there isu very wide range of goods avaiable

B customerscan order goods by word of mavth

. customers have o onder goods one bourestier
. there s s f goods 0 b deliversd o doorsips

11 Voeabulary and Structure (20 points)

: There are 40 incomplete senences in 1his part. For each senence therare 4
cholces marked 4, B, C and D. Choose the one that best competesthe sentence.
Mark our answer on the ANSWER SHEET with  single line through the center

136, During the beavy sorm las week, we had to ke under aAyover.
A shade B shelier
€ shadow D shicld
57, The hree e were asigned jobs sccoding 0 their
A respecttul B. respectable
C respective D respecting
38, Scientists have discovered that many animals seem ta be highly o various
signas associad with earthquakes.
A sensible: B sensual.
€ senvimentl D sensiive
39, The lost carofthe Johnsons” was fond i the woods ofTthe expressway.
A vanished ym—
€ rejeced D, abandoned

40, Our guests willbe uided t0saty fire.
Assaresitor Bincaseor
Cinthe sense of . o he sakeof

41, 1Fyou want o ring her, you'l bave o her number n the telephone book:
Adlookat BLlookio
€ took thrangh D look up.

42 Under the financialcriss, more socia problnms i the world s cetan (0
Amise Buarise






[image: image15]
[image: image16.png]Asupply Boreach

€. provide D.meet
5. Duing July and August here was 0 for weeks
Acomend Binthe end
Catlas D atlengen
fortheir support he would hsve gone periles,
ot Bifitis
D Were it not
in s oom.
At 100 many furniures B.is to0 much furniure
. 00 much umiture . oo many fumitures
S8, 1 miss the hillside we found a ot of wild lowers.
A-on which B by which
C.in which D.for which
59. Nosooner had we reached the top of the il we ll st down o et
A when B then
Cthan . unil

60. By the time Neil Amsirong and Edwin Aldtin walked on the moon in 1969, there
many space explorations.
A will bave been B hadbeen

Cohave been D mustbe
61, Lregrer ard atschool, o I would have pased th exam.
A 10 have not worked. B baving not worked:
€. not 1 have worked .ot having worked
62, When the man withglasses came nko the hoel, 1 noticed a look come over the
manager's face.
A, suprised B suprising
. suprise D suprisingly
& et beterscore, e has been making geat effrts in hislssons,
ASousto B Inorder o
C Sothar D, order that
64 Asfaras T know,the production oftis foctory has doubled this year, and the qulity of s
producs hasbeen improved.
Asince then B.by then
C.untlaow D.aswell
65, Al s 0 Englsh-Chines ditionasy.
A that you need B whatyou need
 which you need . things younced.

<2
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[image: image18.png]time 0 time. Probably more than 90 percent ofal headaches are 76 _ by worry or ension.
‘Moder living 77 _ tension for everybods; at work, i school and_7%_at home. Then,
what can we do about tension and worry i our 1fs?_79_, find out what is causing the
teasion. It may result from feelings or emotons. Do you 80 _ too much over what people
hink o you, over your clothes, o about _ 81 you did? Sccond, find a way of __82
tension. Gardening, valking, running, swimming o sny 83 _ sulable for your age will
help. Then, ook at your way of e, Ask yoursel, where am 1 going? And why? Learn the
84 of rlaxation. Lic down in  dark quiet room and relax 85 _ much as possile by
{aking several siow breaths, Let allyour muscles ela.

76. A. encouraged. B. aroused. €. caused D. presented.
ko Bt Cromss  Downs
78.A. especially B.even C. somehow D. generally
79.A. T BHowwr  CFot D. Bsides
A considr B vy Cane . imagine
S1LA. what B how C when D, where
BAmpoins  Bactving  Coflwg D rducing
DA won B acivity Cpmeise  Ddeed
$4A. st B ey Cuschiness D fnction
A0 By o Duas
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[image: image24.png]PartT  Dialogue Completion (15 points)

Directons: There are 15 short incomplte dalogues in thi part, each fllowed by 4 choices
marked 4, B, C and D: Choose the bes one- 1o compiete the diaogue and mark
vouranswer on the ANSWER SHEET withasingle i through the center

1 Jenny: Shall g0 ell Mr Faiebanks about our proposal?
bade: <0
A Yes, yougo. B.Yes, g0
€. Yes, ler's. D Yes,plese.

2, Mor: It pleasure ta meet you her,
Kaco:
A Pleascd 1o meet you, 0. B Thank you'so much.
C 1t cxpecttosee youhere. D You'r 10 hospiabl,

3. Mr. Williams: Excuse e, 'm looking fo  present fo my son. [ have no s what 10 gt
him, Can you help me?.
Sles girl:
A.OFcourse T can.
B.No, L can'tacualy.
. You must buy him a Tshir.
. Yes, 1 hink a T-hirt would be a good ides.

4 Tims  hear you've besn o the book fie How was it

S
A, Absolutcly marvelous. B Very much indeed:
€ Notnecessasiy. D, Quite disappointed

5. B How do you get slong with your new music teacher!
‘Maggie: M. Davis? but ke hera ot
A She's humorous B She's nice 10 me-
C.She's abit srange . She's good at dancing.

6. David: Charls,could you dive me 1o th railway sition?

Bl e thee ontme.
. Never mind.




[image: image25.png]13.Mieotas: I'dlke o donate money to help poor children at school. To whom shal 1 give my
share?
L Ming I a5k shout that and e you know.
A Very well. B. Who knows?
. Thank you il the same .11l depends.

15.Kelvin: We'reslmost fnished withthe project now:
Teresa: Actull, | prefer o kesp going.
A Let's hury o B, We're oo tred ow:
€. We'll e on time. D Lets stop fora beak.

Part1l Reading Comprehension (40 poins)

Directions: There are 4 pasagesinthis part. Each of th passages isfollowed by § questions
or unfinished statemens. For each of them there e 4 choices marked 4. B, C and
D, Choose the hest one and mark your answer on the ANSWER SHEET with a
single line throvgh the center

Passage One

Jack Bilabon is a stockman, One Feiday aflemoon he was iding along the track lowards
the Hendersan'fam. He was Jooking for  priz ball which had escaped. from the Borrogee.
poddock. He reached the il and sow a oncetha he could not go further.

“There had been  fire i the forest which had gone out. But the e was sl full of smoke
ad fllen ross i blocked the tack. Jack ws just going fo tum back when he saw something
moving in the smke. He waited. ¢ was & gie on & hore, and she was riding towards i

“There's a badly burt man on the fim,”th girl showted. “He saved my lfe. Please help
me 0 save im ™

“The ginl was Cathy Henderson. She bad been on horseback for two hours: She had to
Jump over fllen tres that were stil buming. Her pony had falen wih her twice. She was
bty and almost dead. from want of sk, But she rode back (© the fum with Jack
immedintly

Joe Brook s unconscious whe they eached hin. They lfed him on t0 Jack's hrse
“The ide back 0 Borrogee was terrible. Cathy was 0 tied that Jack had 10 i her 10 et pony.
“The pony was tired ta0, but 1 courage was asonishin. It followed Jack right 1o Borrogee.
ospital, Nobody s them arive because it ws sight.

“I've never scen & horse ke that pony” Jack said, Cathy praised Jack Billsbong, but she
efised tsay anything about the pony. “Joe Wil it about e in his sory.” she ssd.

‘But she did say one thing: "I Flsme had's rtumed 10 the fam that afemoon, Joe and |
would have died

"




[image: image26.png]ones. Anather possible eason, he says. i the common experience of the coupls; There s a
teadency for people who have the same ife experience o change thei faces i sl ways
For exampl, if a couple have suffeed from  lotof s experiences, their fice are likely to
change n a similar way.

21 Dr. Ak cutthe background from the photos forthe pupose of
A imiating the coupes” e
B groupingthe couples again
C.leaving no tsce for th testes
D, giving he tesees more chances
22. The undertined scatence. Thelr fudgmens were o better than chance implies that the
tosesit o,
A dida good job in making teirchojces
B. had ifficly i picking out the parinrs
€. 0 chance o ke the righ udgments
D, id beterwithth firt group than with he second.
23 The underlined word imitate (im paa, 2) has  siilas mesaing
Acopy B.chunge Coknow D.sufer
24 From the passage we can draw the conclusion that
A couples who ook alike ca lve onger
B, mostpatners e been proved o grow alike
. the influcncs between patners can be quie sirong
. happily-married couples are often rcher than othrs
25, The min purpose of the passage i to
A cxplain why coupis grow alike.
B.tel how couples ik cach other
. discuss he function of marisge
. describe the e of happily-married couples

Passage Three.

e three biggest lis in America are: (1) “The eheck i inthe mast® (2) "0 course Il
Fespectyou i the morming”,nd (3) It was  computer errr”

O these three ik whit e, the wors s the hird. 1'sthe iy one that can never be
true, Taday,if a bk statement cheats you out of S900 that way, you know wha th clerk is
st 1 say: I was  computer exrr.” Nonsense. The compate i reporting nothing more than
what e ek typed into i

“The.most aunoying case of allis when the computrized cashier in the grocery siore
shows that s item costs more than it actally. doss. I the innocent buyer points . the

6 bo



[image: image27.png]5. Computes crorsaeedue o s dishonesty
C. Computers help stores update the price list.
D Compute erorsar actully uman erors.

Passage Four

1 came across a old country guidebook the other dy. I isted al e radesmen in each
village, it was impressive o sc the grea vaiey ofservices which were avaiable o one's
own doarstcp in thelte Vitorian countrysde.

Nowadaysa traveler inrurl England might conchude tht the ol vilge radesmen sl
flourishing were cither sllng frozen.food o the villgers or seling antques o visitors.
Nevrtheles,tis would really be a e impression. On the surfuce,thee has besn o decline
of vilage commerce, but s posee s sl remarksble.

Ou local grocer's shop, for example, s actally expanding in spite of the compeiton
from supermarkets in he ncarest town. Women sensibly prefe to g0 thers und exchange the
local news while doing heir shopping. nstead of queuing up at  supermarket, And the groser
nows wellthat personalservice has 2 onsidersbl cash yalue.

His prices my be  bit higher than those n the town, but he will delver anything ot any
time. His assitans think nothing of bieycing dow th villge sret i thei hunch hows t0
take @ piece of heese 1o un 0l reird woman who sent hs order by word of mouth with
friend who happend to be pasing. The richer customers clephone theie shopping lsts 3 the
180005 e on ther doorteps within an hous. They have only to hint at-a fancy for some
‘commedity ouiside the ustal stock and the groce, & s fced figur, nstantly obain it for
the,

31. Nowadays the commerealservicesinthe village are .
Asill very acive
B quickly declining
. unable 10 Nourish
D, personal o visitors
32, The local grocer'sshop s expanding bocause
A the competiton there s weak
B.itis.a plce forwomen to chat
. it provides good personal service
. the goods there are mare valusble
33, Which o the ollowing is true about he supermitkets?
A-Prices thersare much higher.
B Customers ofen have o queie up.
. Costomerscan oder by elephone.

8 e




[image: image28.png]€ berised D bearisen

43, Aferhis rtirement, h lves paty on his and party on the intereston bis post
offcesavings account.
Awages B lary
C camings D, pension
44, During the . the udicncestrolled an chattd i the lobby.
A interval B pause
C.interruption D.gap

+45. Membership in the United Nations s open to all pescc-loving stles which sccept the
of the Charter.
Adeby B obligation
G eredit D.relance
46, Table enais used 0 be the most popular in China. But now basketballseems o
be more arsciv

A game B mach
Cplay D.race
7. As hee hushand i on  busines tip aad her so s t school,sh fee raher
Adlonely Bualone.
C. singular D.single
48 Weneedto ourcamping things before we g0 avay:
A choose from B.tsl from
€ sortout D.setout
49, He very quicky fom his lness.
A ecovered B discovered
. uncovered . covered
50, 1fthe police had acted with more. the disaster could have been prevented.
A salution B déterminaton
€. decision D, hesitiion
S1. Hedoes ot 58 teacher of English,for his pronunciation i e from perfect.
A qualfy B cqual
D deserve
reply 0 the queston showed that he ad understond i very well
—
D quick
53, When he trcd 0 make a e found that th Hotel was flly baoked.
A resersation B. demand
. claim D. poliy.
S4. 1 xpect that she il be ble to your pariculr needs.

2 »»




[image: image29.png]o6 it good pecfomance, the machine i 100 expensive.

A Besides B Bxeept for
C.lnspiteof D Apar from
67. Helooks seepy. He must 10 bed vry e last nigh,
Abe gone B be oing
Cao D have gone
68 Mrs. White became a tacher n 1990, She. for ety s by et summer.
A will each B would have taught
s been teching, D, will b taught
. Sheis driver as any one clse.
A s goods B.atago0d
Csogoada D04 good
70. You may wrie an E-mil 1 me o justphone e, will do.
AEach B Either
 Neither D.None
71. Few people knew bis reason fr quiting his job was he wanted 0 g0 sbrosd.
A whether B.uhers
Cowhy D that

72, The teacher asked me 510 fnish wrting the composition.
A how Jong would i ke
. how long it would take
. how so0n would t ke
D, how soon i would ske.
73, 1t was th thir tme the villgers iterviewed by the adio station.

A bavebeen B had been
Cowere D.are

74. She came ntothe room quiety wake ber rends.
Asoassatio Bososs oot
Conatsoasio D, 0 she docs not

75. Lamived o the trflic o be 5o beavy this morning.
A wasn'texpestng. B wouldn'texpect
. haven't expected D had'sexpected

PartIV Cloze Test (10 points)
Disctions: There are 10 blanks n the following passage. For each munbered blank,thee are
 choices marked 4, B, C and D Choase the best one and i you anser on
the ANSWER SHEET witha sing lin through the center
A headache i one of man's most comemon;enenies, Most people gt headaches from

2




[image: image30.png]PartV Writing (15 points)
Directions: You are 10 wrie i 100-120 words o the topic: “Choasing Cirers®, Yo should
ase your compositon on the ouline given in Chinese belaw:

L ARSI F LI AR,
2 BEWAR R SR T A
3. IR i,
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